
 

INTER CA – NOVEMBER 2018 

 

Sub: ADVANCED ACCOUNTS  

Topics –  Financial Reporting of Financial 

Instituition, Mutual Funds, Valuation of 

Goodwill. 

Test Code – N5  

Branch: Multiple                  Date:   
 

(50 Marks) 
 

 

Page | 1 

 

Question 1                                                                                                                                                  (5 marks) 

   

 

             

           
 

 

Question 2             (5 marks) 

   

                    

                    

                   

 

 

3 marks 

 2 marks 



 

 

Page | 2 

 

 

Question 3 (8 marks)  
Calculation of effective yield on per annum basis in respect of two mutual fund schemes up to 31.03.2017 
 

        X      Y  

 1  Amount of Investment (`) [[ 2,00,000  4,00,000  

 2  Date of investment 1.12.2016  1.1.2017  

 3  NAV at the date of investment (`) 10.50  10.00  

 4  No. of units on date of investment [1/3] 19,047.62  40,000  

 5  NAV per unit on 31.03.2017 (`) 10.40  10.10  

 6  Total NAV of mutual fund investments on              
    31.03.2017 [4 x 5] 1,98,095.25  4,04,000  

 7  Increase/ decrease of NAV [6-1] (1,904.75)  4,000  

 8  Dividend received up to 31.3.2017 3,800  6,000  

 9  Total yield [7+8] 1,895.25  10,000  

 10  Yield % [9/1] x 100 0.95%  2.5%  

 11  Number of days from date of investment 121  90  

 12  Effective yield p.a. [10/11] x 365 days 2.87%  10.14%  
                  

 

Question 4 

  :   (8 marks) 

 

                     

  Computation of Average Capital employed      
              

         (` in lakhs)

Total Assets as per Balance Sheet       591.20

Less:  Non-trade investments (20% of ` 40 lakhs)        (8.00)

         583.20

Less: Outside Liabilities:            

  10% Debentures  20.00       

  12% Term Loan  72.00       

  Trade Payables  64.00       

  Provision for Taxation   25.60   (181.60) 

Capital Employed as on 31.03.2017       401.60

Less: ½ of profit earned during the year:            

  Increase in General Reserve balance  2.00       

  Increase in Profit & Loss A/c   78.40       

      80.40 /2  40.20
          

Average capital employed       361.40
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Question 5                 ( 8 marks ) 
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Question 7      (6marks ) 
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